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Bk[B(t0), b(to)] = n, BN di(to) # 0. (5 4%)
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HI¥E]
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bmswm = ¢(Ems)ws = ¢(Emr)¢(Ers)ws = ¢<Emr)brsw7‘ = brsbmrwm

KA b,y brs = byns. (17 43)
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=R 15 40 W f(x) FEIXIE] [0, ) B B ELESEL £(0) =1, £(0) # 0,
HOo< f(z) <z, x€(0,a) %

Tnt1 = f(zn), w1 € (0,a).

(1) 2KIE {x,} WESIFRMIR;  (2) ik {nz,} EHUE? FAUESL, WIHERHEER . 75
B, ISR FR.

IERR (1) A 0 < 29 = f(21) < 2, FAHLATIESRS 0 < 200 < 2, TH& {7}
AW, BH xo. 1 f WL, K 20 = f(2) 13 20 = fzo). XY 2> 0 B,
f(z) >z, ITUARA 20 =0. B, lim z, = 0. (5 47)

(2) M Stolz & FEAFN L’Hospril‘c_zjo?j&‘mu,

lim nx, = lim LI lim L
n—00 n—oo 1/x, n—oool/w, — 1/,
— 1i Tp41Tn (8%)
n—00 Tp — Tn41
o waf@n) L xf(2)
T fl) i f(@)
o @) +afie) L 2f(x) +xf(2)
I B i R 70
2
— _f”(O) (1547)

P, (ARE 15 43) B a> 1, BEL f: (0,+00) — (0, +o0) Ak SRUEFFFERET
TeFF BIEES {2, ) 15

f(x,) < flax,), n=1,2,---.

IR AEEAXT, WIAFFE 2o > 0 1524 2 > 2o B, B f/(z) = f(az) > 0. (557)
TN x> xo B, f(x) RSN, B E e 2

flax) = f(x) = f/(§)(a = Dz > f(ag)(a — 1)z
> f(ax)(a —1)x.

BT o > L SRR Y. (104)
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g(tr + (1 —t)y) < tg(x) + (1 — )g(y).
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: 71f(x)g(x) dr > /1f(x) dx/lg(x) dx.
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KA g(x) R e, FrAR%L h(z) = g(z) + g(—z) 7E [0,1] LB, (1047)
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(f(x) = F()(h(x) = h(y)) = 0.
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